[ Efficien

cy vs vertpos |

— 05
Q045 weerrr e
2 o]

2 04F RPRY

5 Y

SJ0 k1< SERUILTRURE FUTIRRURRTE SITSRPRIE TR

(&)

U i ST pol T
(0)15| STPPPPPRRP FOPPTPPIPPR S %a}
0.2 {J -------
0.15 . {11 B
0 e T L Trree
00 oY © 142 A

i3

9 J.G.: L : 1 1111111

s O AT

o - B S I S + 3 a:h - -
03:2 :1 ARk ARR AR ,

10 10" 1 10 0
TP vertr(cr%)

[—=— DQN_MKFIT_TTorigmal
o] o S s g Ltz

@ —_— D8M_mkFit_TTNE§\JNMS-genMatch-CUTZ

N 05

20.45

(2]

> 04

>

2

§0.35

o

£ 0.3

(]

0.25
0.2
0.15
0.1
0.05

e O

=R

o
0.9
°85 =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

&

................................................

...........................................

104

Ratio
N

o
o)

|
S

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


